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SECTION – A

1. Two poles, AB of length a metres and CD of length a+b (b a) metres are erected at the same horizontal level

with bases at B and D. If BD = x and tan ACB 
1

2
, then:

nks iksy]  a ehVj yack AB rFkk a+b (b a) ehVj yack CD ,d {kSfrt /kjkry ij [kM+s gSA buds vk/kkj B rFkk D gSaA ;fn

BD = x rFkk tan ACB 
1

2
gSa] rks %

(1) x2 + 2(a+2b)x+a(a+b) =0

(2) x2 – 2ax+b(a+b)=0

(3) x2 + 2(a+2b)x–b(a+b) =0

(4) x2 – 2ax+a(a+b)=0

Question ID : 86435120699
Option 1 ID : 86435168700
Option 2 ID : 86435168699
Option 3 ID : 86435168697

Option 4 ID : 86435168698

Ans. Official Answer NTA (2)

Sol.

a

B x D

A

C

b

a



90
( + ) 



b
tan(90 ( )

x
    Also

b
cot( )

x
             

x
tan

a b





cot cot 1 b

cot cot x






 

 
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2 (a b)
1 bx

a b x2
x

 







2(a b) x b

(a b) 2x x

 


 

2x (a + b) – x2 = (a + b) b + 2bx

x2 – 2ax + b(a + b) = 0

2. The value of the integral  
xdx

( x)( x)( x)  
1

0 1 1 3 3
 is

lekdyu 
xdx

( x)( x)( x)  
1

0 1 1 3 3
 dk eku gS %

(1) 
 

  
 

3
1

8 2

(2) 
 

  
 

3
1

4 2

(3) 
 

  
 

3
1

4 6

(4) 
 

  
 

3
1

8 6

Question Type : MCQ
Question ID : 86435120689
Option 1 ID : 86435168657
Option 2 ID : 86435168660
Option 3 ID : 86435168659

Option 4 ID : 86435168658Ans.

Official Answer NTA (1)

Sol.

1

0

xdx

(1 x)(1 3x)(3 x)   x = t2

1 2

2 2 2

0

2t dt
I

(1 t )(1 3t )(3 t )


   dx = 2tdt
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1 2 2

2 2 2

0

(3t 1) (t 1)dt
I

(t 1)(3t 1)(t 3)

  


  

1 1

2 2 2 2

0 0

dt dt
I

(1 t )(t 3) (3t 1)(t 3)
 

    

1 12 2 2 2

2 2 2 2

0 0

1 (t 3) (t 1) 1 (1 3t ) 3(3 t )
I dt dt

2 (1 t )(t 3) 8 (3t 1)(t 3)

     
 

    

1 1 1 1

2 2 2 2

0 0 0 0

1 dt 1 dt 1 dt 3 dt
I

2 1 t 2 t 3 8 d 3 8 3t 1
   

      

1 1 1

2 2 2

0 0 0

1 dt 3 dt 3 dt
I

2 1 t 8 t 3 8 1 3t
  

    

1 1 11 1 11 3 t 3
I tan tan tan ( 3t)

0 0 02 8 3 3 8 3

    
       

1 3 3
I 0

2 2 6 38 3 8 3

       
             

3
I

8 16

3
I 1

8 2






 

 
   

3. Let [] be the greatest integer less than or equal to The set of all values of  for which the system of linear

equations x + y + z = 4, 3x + 2y + 5z = 3, 9x + 4y + (28 + [])z = [] has a solution is:

ekuk [] egÙke iw.kkZad <gSA  ds lHkh ekuksa] ftuds fy, jSf[kd lehdj.k fudk; x + y + z = 4, 3x + 2y + 5z = 3,

9x + 4y + (28 + [])z = [] dk gy gS] dk leqPp; gS %

(1) (–, –9)  (–9, 

(2) [ –9, – 8]

(3) (–, –9)  [–8, 

(4) R



Question Paper With Text Solution (Maths)
JEE Main August 2021 | 27 August  Shift-2

Page No. 5

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911
Website : www.matrixedu.in ;  Email : smd@matrixacademy.co.in

Question Type : MCQ
Question ID : 86435120682
Option 1 ID : 86435168632
Option 2 ID : 86435168629
Option 3 ID : 86435168630
Option 4 ID : 86435168631

Ans. Official Answer NTA (4)

Sol.

1 1 1

D 3 2 5 [ ] 9

9 4 28 [ ]

  







If [ ] 9 0  then system will  have unique solution.

and if [ ] 9 0   then D
1
 = D

2
 = D

3 
 = 0 so system will have infinite solution.

4. The equation of  the plane passing  through  the  line of  intersection of  the planes   ˆ ˆ ˆr. i j k  


1and

 ˆ ˆ ˆr. i j k   


2 3 4 0  and parallel to the x-axis is:

leryksa  ˆ ˆ ˆr. i j k  


1rFkk  ˆ ˆ ˆr. i j k   


2 3 4 0  dh izfrPNsnu js[kk ls gksdj tkus okys rFkk x-v{k ds lekUrj

lery dk lehdj.k gS %

(1)   ˆ ˆr j k  3 6 0


(2)   ˆ ˆr j k – 3 6 0


(3)   ˆ ˆr i k  3 6 0


(4)   ˆ ˆr i k  3 6 0


Question Type : MCQ
Question ID : 86435120696
Option 1 ID : 86435168688
Option 2 ID : 86435168687
Option 3 ID : 86435168685
Option 4 ID : 86435168686

Ans. Official Answer NTA (1)

Sol. Given plane in cartesian form

x + y +  z = 1 _______(1)

2x + 3y –  z + 4 = 0 _______(2)

Required plane
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(x + y + z – 1) +   (2x + 3y – z  + 4) = 0

(1 + 2 )x + (1 + 3 )y + (1 –  )z + 4 1 0  

Here, normal is perpendicular to x-axis.

Hence (1 2 ) (1 3 )(0) (1 )(0) 0       

1
d

2
 

Now required plane
y – 3z + 6 = 0

which is form option (1).

5. The angle between teh straight lines, whose directioncosines are given by the equations 2l +2m –n = 0 and

mn + nl +lm = 0, is:

ljy js[kkvksa] ftuds fnd~&dkslkbu lehdj.kksa 2l +2m –n = 0 rFkk mn + nl +lm = 0 }kjk fn, x, gSa] ds chp dk dks.k gS%

(1) 


3

(2) cos  
 
 

1 8

9

(3) 


2

(4)  cos  
   

 

1 4

9

Question Type : MCQ
Question ID : 86435120695
Option 1 ID : 86435168681
Option 2 ID : 86435168682
Option 3 ID : 86435168683
Option 4 ID : 86435168684

Ans. Official Answer NTA (3)

Sol. n = 2(l + m) ______ (1)

n (m + l) +  lm = 0 ______ (2)

2 (l + m)2 +  lm = 0

2l2 + 5lm + 2m2 = 0

(m + 2l) (2m + l) = 0
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l = –2m l = –
m

2

Case - I

2m,m, 2m,      
m

, m, m
2

  

2,1, 2    1,2,2  

Hence, angle between these lines

2 2 4
cos

9 9


 


cos 0 

2


 

6. If 0 < x < 1 and   y x x x   2 3 41 2 3

2 3 4
 ..., then the value of e1+y at x 

1

2
 is

;fn 0 < x < 1 rFkk y x x x   2 3 41 2 3

2 3 4
 ..., gSa] rks x 

1

2
 ij e1+y dk eku gS %

(1)  e21

2

(2)  e
1

2

(3) 2e

(4) 2e2

Question Type : MCQ
Question ID : 86435120684
Option 1 ID : 86435168640
Option 2 ID : 86435168639
Option 3 ID : 86435168637

Option 4 ID : 86435168638Ans.

Official Answer NTA (1)
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Sol.
2 3 41 1 1

y 1 x 1 x 1 x ......
2 3 4

     
                 

2 3 4
2 3 4 x x x

y (x x x ..... ) .....
2 3 4

 
          

2 2 3 4x x x x
y x x ....

1 x 2 3 4

 
          

x
y (1 x)

1 x
  


ln

Now at x = 
1

2

y = 1 – ln2
Now e1+y

= e1 + 1–ln2

= e2 – ln2

= e2 × 
1

2

= 
2e

2

7. If the solution curve of the differential equation (2x – 10y3)dy + ydx = 0, passes through the points (0, 1) and

(2, ), then  is a root of the equation:

;fn vody lehdj.k (2x – 10y3)dy + ydx = 0 dk gy oØ, fcUnqvksa (0, 1) rFkk (2, ) ls gksdj tkrk gS] rks  fuEu esa ls

fdl lehdj.k dk ,d ewy gS\

(1) y5 –2y –2 = 0

(2) 2y5 –2y –1 = 0

(3) y5 –y2 –1 = 0

(4) 2y5 –y2 –2 = 0

Question Type : MCQ
Question ID : 86435120692
Option 1 ID : 86435168672
Option 2 ID : 86435168669
Option 3 ID : 86435168671
Option 4 ID : 86435168670
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Ans. Official Answer NTA (4)

Sol.
3dx

y 2x 10y
dy

  

2dx 2
x 10y

dy y

 
   

I.F. = 
2

dy
2ye y





= e

Now

x(IF) =  Q(IF)dy

xy2  =  2 210y (y )dy
xy2 = 2y5 + c

from (0, 1)

c = –2

xy2 = 2y5 – 2

xy5 – xy2 – 2 = 0

from (2, B)

2B5 – 2B2 – 2 = 0

B5 – B2 – 1 = 0

y5 – y2 – 1 = 0

8. A differential equation representing the family of parabolas with axis parallel to y-axis and whose length of latus

rectum is the distance of the point (2, –3) from the line 3x + 4y = 5, is given by:

,sls ijoy;ksa ds dqy] ftuds v{k y-v{k ds lekUrj gSa rFkk ftudh ukfHkyEc thok dh yEckbZ fcUnq (2, –3) dh js[kk

3x + 4y = 5 ls nwjh gS] dks fu:fir djus okyk ,d vody lehdj.k gS %

(1) 
d x

dy


2

2
11 10
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(2) 
d y

dx


2

2
11 10

(3) 
d x

dy


2

2
10 11

(4) 
d y

dx


2

2
10 11

Question Type : MCQ
Question ID : 86435120691
Option 1 ID : 86435168665
Option 2 ID : 86435168667
Option 3 ID : 86435168668

Option 4 ID : 86435168666

Ans. Official Answer NTA (2)

Sol.
(A, B)

                  

6 12 5
4a

5

11
4a

5

 




2 11
(x A) (y B)

5
  

11 dy
2(x A)

5 dx
 

2

2

11 d y
2

5 dx


2

2

d y
11 10

dx


9. Let 

[x ] [x ] [x ]

A [x] [x ] [x ]

[x] [x ] [x ]

   
 

   
   

1 2 3

3 3

2 4
, where [t] denotes the gretest integer less than or equal to t, If det (A) =

192, then the set of values of x is the interval

ekuk  

[x ] [x ] [x ]

A [x] [x ] [x ]

[x] [x ] [x ]

   
 

   
   

1 2 3

3 3

2 4
, tgk¡ [t] - egÙke iw.kkZad < t dks n'kkZrk gSA ;fn det (A) = 192 gS] rks x ds ekuksa

dk leqPp; fuEu esa ls dkSulk varjky gS\
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(1) [60, 61]

(2) [62, 63]

(3) [68, 69]

(4) [65, 66]

Question Type : MCQ
Question ID : 86435120683
Option 1 ID : 86435168636
Option 2 ID : 86435168635
Option 3 ID : 86435168633
Option 4 ID : 86435168634

Ans. Official Answer NTA (2)

Sol. 2

[x] 1 [x] 2 [x] 3

| A | [x] [x] 3 [x] 3 19

[x] [x] 2 [x] 4

  

   

 

2 2 1R R R 

3 3 1R R R 

2

[x] 1 [x] 2 [x] 3

1 1 0 19

1 0 1

  

 



[x] = 62

x [62,63)

10. The set of all values of  k > –1, for which the equation

(3x2 + 4x+3)2 – (k+1) (3x2 + 4x +3) (3x2 + 4x+2)+ k(3x2 + 4x +2)2 = 0 has real roots, is:

k > –1 ds lHkh ekuksa] ftuds fy, lehdj.k

(3x2 + 4x+3)2 – (k+1) (3x2 + 4x +3) (3x2 + 4x+2)+ k(3x2 + 4x +2)2 = 0

ds okLrfod ewy gSa] dk leqPP; gS %

(1) [2, 3]

(2)  ,
 
 
 

5
1

2
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(3)  , { }
 

 

1 3
1

2 2

(4)  ,
 
  

1
1

2

Question ID : 86435120681
Option 1 ID : 86435168626
Option 2 ID : 86435168625
Option 3 ID : 86435168628

Option 4 ID : 86435168627

Ans. Official Answer NTA (2)

Sol. Given equation can be expressed

22 2

2 2

3x 4x 3 3x 4x 3
(k 1) k 0

3x 4x 2 3x 4x 2

      
            

t2 – (k + 1)t + k = 0
t2 – kt – t + k = 0

t (t – k) –1(t – k) = 0

(t – 1) (t – k) = 0

t = 1 t = k

           
2

2

3x 4x 3
k

3x 4x 2

 


 

3x2 + 4x + 3 = 3x2 k + 4xk + 2k

23x (k 1) 4x(k 1) 2k 3 0     

x R

D 0
16(k–1)2 – k(k – 1) (2k – 3)   0

5
k 1,

2

 
  

11. If two tangents drawn from a point P to the parabola y2 = 16(x–3) are at right angles, then the locus of point P

is:
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;fn ,d fcUnq P ls ijoy; y2 = 16(x–3) ij [khaph xbZ nks Li'kZ js[kk;sa ledks.k cukrh gSa]rks fcUnq P dk fcUnqiFk gS %

(1) x + 4 = 0

(2) x + 2 = 0

(3) x + 3 = 0

(4) x + 1 = 0 

Question ID : 86435120694
Option 1 ID : 86435168680
Option 2 ID : 86435168678
Option 3 ID : 86435168679
Option 4 ID : 86435168677

Ans. Official Answer NTA (4)

Sol. Equation of tangent

4
y m(x 3)

m
  

4
k m(h 3)

m
                     

P(h, k)

2km m (h 3) 4  

2m (h 3) km 4 0     
m1

m2

m
1
m

2
 = –1

4
1

h 3
 



x – 3 = 4

x + 1 = 0

12. Each of the persons A and B independently tosses three fair coin. The probability that both of them get the

same number of heads is:

nks O;fDr;ksa A rFkk B esa ls izR;sd rhu U;k; flDds mNkyrk gSA nksuksa ds fy, fpÙk dh la[;k cjkcj vkus dh izkf;drk gS%

(1) 
5

16

(2) 
1

8
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(3) 
5

8

(4) 1

Question ID : 86435120697
Option 1 ID : 86435168691
Option 2 ID : 86435168690
Option 3 ID : 86435168689
Option 4 ID : 86435168692

Ans. Official Answer NTA (1)

Sol. C – I      O   Head (T T T)

               I            II

             

3
1

2

 
  

    

3
1

2

 
  

= 
1

64

C – II      I   Head (H T T)

               I            II

             
3

8

 
 
 

    
3

8

 
 
 

 = 
9

64

C – III      2   Head (H T T)

             
3

8

 
 
 

    
3

8

 
 
 

 = 
9

64

C – IV      3   Head (H H H)

             
1

8

 
 
 

    
1

8

 
 
 

 = 
1

64

Total probability 
1 9 9 1

64 64 64 64
   

                         
20

64


                          
5

16


13. Let Z be the set of all integers,

A {(x, y) Z Z : (x – ) y }    2 22 4

B {(x, y) Z Z : x y }    2 2 4
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C {(x, y) Z Z : (x ) (y )      2 22 2 4

If the total number of relations from A B to A C  is 2P, then the value of p is:

ekuk lHkh iw.kkZadks dk leqPp; Z gS,

A {(x, y) Z Z : (x – ) ) y }     2 2 22 2 4

B {(x, y) Z Z : x y }    2 2 4 rFkk

C {(x, y) Z Z : (x ) (y )      2 22 2 4 gSA

;fn A B ls A C  esa lEcU/kksa dh dqy la[;k 2P gS] rks p dk eku gS %

(1) 16

(2) 9

(3) 49

(4) 25

Question ID : 86435120680
Option 1 ID : 86435168622
Option 2 ID : 86435168621
Option 3 ID : 86435168624
Option 4 ID : 86435168623

Ans. Official Answer NTA (4)

Sol. A B

Integers in A B {(0,0), (1,0), (1,1), (1, 1), (4,0)} 5     points.

A C
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(2,2)

(2,0)

Integers in A C {(2,0), (2,1), (2,2), (1 3)} 5     points

Relation from A B  to A C  =  mn2
               = 252

            P = 25

14. Let A(a, 0), B(b, 2b + 1) and c(0, b) b  0, |b| 1, be points such that the area of triangle ABC is 1 sq. unit,

then the sum of all possible values of a is:

ekuk fcUnqvksa A(a, 0), B(b, 2b + 1) rFkk c(0, b) b  0, |b| 1, ls cus f=kHkqt ABC dk {ks=kQy 1 oxZ bdkbZ gS] rks  a ds

lHkh lEHko ekuksa dk ;ksx gS %

(1) 
b

b





22

1

(2) 
b

b





2

1

(3) 
b

b 

22

1

(4) 
b

b 

2

1

Question ID : 86435120693
Option 1 ID : 86435168676
Option 2 ID : 86435168674
Option 3 ID : 86435168675
Option 4 ID : 86435168673

Ans. Official Answer NTA (1)
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Sol.
a 0 11

b 2b 1 1 12

0 b 1

  

a 0 1

b 2b 1 1 2

0 b 1

  

2a(2b 1 b) 1(b ) 2    

2a(b 1) b 2   

Case - I Case - II

22 b
a

b 1





               

22 b
a

b 1

 




Sum = 
22b

b 1





15. If 
sin x sin x

y(x) cot
sin x sin x


   

      

1 1 1

1 1
,x  ,

 
  

 2
, then 

dy

dx
at x




5

6
 is

;fn 
sin x sin x

y(x) cot
sin x sin x


   

      

1 1 1

1 1
,x  ,

 
  

 2
 gSa] rks 

dy

dx
ij x




5

6
 dk eku gS %

(1) 
1

2

(2) 
1

2

(3) –1

(4) 0

Question ID : 86435120686
Option 1 ID : 86435168645
Option 2 ID : 86435168646
Option 3 ID : 86435168648
Option 4 ID : 86435168647

Ans. Official Answer NTA (2)



Question Paper With Text Solution (Maths)
JEE Main August 2021 | 27 August  Shift-2

Page No. 18

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911
Website : www.matrixedu.in ;  Email : smd@matrixacademy.co.in

Sol.
1

x x x x
sin cos sin cos

2 2 2 2
y cot

x x x x
sin cos sin cos

2 2 2 2



 
  

 
  

     

1

x
2sin

2y cot
x

2cos
2



 
 

  
  

1 x
y cot tan

2
  

   

1 1y cot cot x
2

   
     

y x
2


 

dy
1

dx
 

16. Let M and m respectively be the maximum and minimum values of the function f(x) = tan–1(sinx+cosx) in

,
 

  
0

2
. Then the value of tan(M–m) is equal to:

ekuk ,
 

  
0

2
  esa Qyu f(x) = tan–1(sinx+cosx) ds vf/kdre rFkk U;wure eku Øe'k% M rFkk m gSa rks tan(M–m) dk eku

cjkcj gS %

(1)  3 2 2

(2)  2 3

(3)  3 2 2

(4)  2 3
Question ID : 86435120687
Option 1 ID : 86435168652
Option 2 ID : 86435168650
Option 3 ID : 86435168651

Option 4 ID : 86435168649

Ans. Official Answer NTA (3)
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Sol.
1y tan 2 sin x

4
   

   
  



1 1
y tan 2 ,1

2

   
   

  

1y tan 1, 2    

1y , tan 2
4

  
   

Now  m
4


 1M tan 2       tan 2

tan(M m) 

tan
4

 
  

 




= 
tan 1

tan 1









2 1 2 1

2 1 2 1

 
 

 

 
2

2 1 

2 1 2 2  

3 2 2 

17. A box open from top is made from a rectangular sheet of dimension a×b by cutting squares each of side x from

each of the four corners and folding up the flaps. If the volume of the box is maximum, then x is equal to:

a×b (yEckbZ × pkSM+kbZ) dh ,d vk;rkdkj pn~nj ds izR;sd dksus ls x Hkqtk ds oxZ dkVdj rFkk Qydksa  dks eksM+dj <+Ddu

jfgr ,d lanwd cuk;k x;k gSA ;fn lanwd dk vk;ru vf/kdre gS] rks x cjkcj gS %

(1) 
a b a b ab   2 2

6

(2) 
a b a b ab   2 2

6

(3) 
a b a b ab   2 2

12
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(4) 
a b a b ab   2 2

6

Question ID : 86435120688
Option 1 ID : 86435168655
Option 2 ID : 86435168653
Option 3 ID : 86435168654
Option 4 ID : 86435168656

Ans. Official Answer NTA (2)

Sol.

b

a

x
x

v (a 2x)(b 2x)x  

2v (4x 2x(a b) ab)x   

3 2v 4x 2x (a b) abx   

2dv
12x 4x(a b) ab 0

dx
      





24(a b) 16(a b) 48ab
x

2 12

   




2 2(a b) a b ab
x

6

   


Let   
2 2(a b) a b ab

6

   


2 2(a b) a b ab

6


   



++

dv
12(x )(x )

dx
   

here maximum value of at x =  

2(a b) a b ab
x

6


   
 
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18. The area of the region bounded by the parabola (y–2)2 = (x–1), the tangent to it at the point whose ordinate is

3 and the x-axis is:

ijoy; (y–2)2 = (x–1), blds ml fcUnq ftldh dksfV 3 gS ij Li'kZ js[kk rFkk x-v{k }kjk ifjc) {ks=k dk {ks=kQy gS %

(1) 6

(2) 4

(3) 9

(4) 10

Question ID : 86435120690
Option 1 ID : 86435168661
Option 2 ID : 86435168664
Option 3 ID : 86435168662

Option 4 ID : 86435168663

Ans. Official Answer NTA (3)

Sol. (y – 2)2 = (x – 1)

A(-4,0)

(2,3)

slope of tangent

dy
2(y 2) 1

dx
 

dy 1

dx 2


tangent 
1

y 3 (x 2)
2

  

2y 6 x 2  

x 2y 4 

Required area 

3

2

0

(y 2) 1 (2y 4) dy      
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3

2

0

(y 2) 2y 5 dy   

3
2

3(y 2)
y 5y

03


   



1 8
9 15

3 3
   

= 6 + 3

= 9 square unit

19. The boolean expression (p q)  ((rq)p) is equivalent to:

cwyh; O;atd (p q)  ((rq)p) fuEu esa ls fdl ds rqY; gS %

(1) (q r)  (p q)

(2) (p q)  (r q)

(3) (p r)  (p q)

(4) (p q)  (r q)

Question ID : 86435120698
Option 1 ID : 86435168693
Option 2 ID : 86435168695
Option 3 ID : 86435168696
Option 4 ID : 86435168694

Ans. Official Answer NTA (4)

Sol. (p q) ((r q) p)   

(p q) ((r q) p)   

(p q) ((r p) (p q))    

[ (p q) (p q)] ( (p q) (r p))        

t [ (p q) (r p)]    

(p q) (r p)   

(p q) (r p)   

20. If   
x
lim x x ax b


   2 1 , then the ordered pair (a, b) is:

;fn  
x
lim x x ax b


   2 1  gS] rks Øfer ;qXe (a, b) gS %

(1)  ,
 
 

 

1
1

2
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(2)  ,
 
  

 

1
1

2

(3)  ,
 
 
 

1
1

2

(4)  ,
 

 
 

1
1

2

Question ID : 86435120685
Option 1 ID : 86435168644
Option 2 ID : 86435168641
Option 3 ID : 86435168643
Option 4 ID : 86435168642

Ans. Official Answer NTA (4)

Sol.
2

x
lim x x 1 a x b


   

2 2 2

2x

x x 1 a x
lim b

x x 1 ax

  


  

2 2

2x

x (1 a ) 1 x
lim b

x x 1 ax

  


  

If limit exits a2 = 1

Then a 1 

2x

1 x
lim b

x x 1 ax




  

x

2

1
1

xlim b
1 1

1 a
x x






  

1
b

1 a





(here a 1  )
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So possible values of  b

1
b

2
 

1
1,

2

 
  

SECTION - B

1. An online exam is attempted by 50 candidates out of which 20 are boys. The average marks obtained by boys

is 12 with a variance 2. The variance of marks obtained by 30 girls is also 2. The average marks of all 50

candidates is 15. If  is the average marks of girls and  is the variance of marks of 50 candidates, then +2

is equal to _______.

50 ijh{kkfFkZ;ksa }kjk ,d vkWuykbu ijh{kk nh xbZA bu ijh{kkfFkZ;ksa esa 20 yM+ds }kjk izkIr fd, x, vadks dk ek/; 12 rFkk

izlj.k 2 gSaA 30 yM+fd;ksa }kjk izkIr vadks dk izlj.k Hkh 2 gSA lHkh 50 ijh{kkfFkZ;ksa ds vadks dk ek/; 15 gSA ;fn yM+fd;ksa ds

vadks dk ek/;  gS rFkk 50 ijh{kkfFkZ;ksa ds vadks dk izlj.k  gS] rks +2 cjkcj gS_______A

Question ID : 86435120709

Ans. Official Answer NTA (25)

Sol. 2
b 2  n

1
 = No of boys = 20

bx 12 n
2
 = No. of girls = 30

2
g 2

gx 

x 15

Now 
gb 1 2

1 2

x n x n
x

n n






g12 20 x 30
15

30 20

  




750 – 240 = 30  gx

gx  =  17

  = 17

variance of combined group

2 2
1 b 2 g2 21 2

b g
2

1 2 1 2

n n n n
(x x )

n n (n n )


  

 

 

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2 2

2

20 2 30 2 20 30
(12 17)

20 30 (20 30)


   
  

 

2 8 
2 17 8    

= 25

2. 3×722 + 2×1022–44 when divided by 18 leaves the remainder ______.

3×722 + 2×1022–44 dks 18 ls Hkkx nsus ij 'ks"kQy ______gSA

Question ID : 86435120702

Ans. Official Answer NTA (15)

Sol. = (6 + 1)22 + 2(9 + 1)22 – 44

= 18I
1
 + 3 + 18I

2
 + 2 – 44

= 18(I
1 
+ I

2
) + 5 – 44

= 18I
3 
– 39

= 18I
3 
– 18 × 3 – 39 + 54

= 18(I
3 
– 3) + 15

hence remainder is 15

3. Let S be the sum of all solutions (in radians) of the equation sin4 + cos4 – sin cos = 0 in [0, 4]. Then 
S



8

is equal to ______.

ekuk [0, 4] esa lehdj.k sin4 + cos4 – sin cos = 0 ds lHkh gyksa (jsfM;u esa) dk ;ksx S gSA rks 
S



8
cjkcj gS______A

Question ID : 86435120708

Ans. Official Answer NTA (56)

Sol. 4 4sin cos sin cos 0     

2 21 2sin cos sin cos 0     

21 1
1 sin 2 sin 2 0

2 2
    sin 2 y 

22 y y 0  

2y y 2 0   If y = –2

(y 2)(y 1) 0       sin 2 2                  not possible

If y = 1

sin 2 1 
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5 9 13
2 , , ,

2 2 2 2


   


5 9 13
, , ,

4 4 4 4

   
 

Sum = 
5 9 13

7
4

   


  


8S
56




4. Let z
1
 and z

2
 be two complex members such that arg (z

1
 – z

2
)




4
 and z

1
, z

2
 satisfy the equation |z–3| = Re(z).

Then teh imaginary part of z
1
+z

2
 is equal to ______.

ekuk z
1
 rFkk z

2
 nks lfEeJ la[;k;sa bl izdkj  gSa fd arg (z

1
 – z

2
)




4
 gS rFkk  z

1
, z

2
 lehdj.k |z–3| = Re(z) dks larq"V djrs

gS rks z
1
+z

2
 dk dkYifud Hkkx gS______A

Question ID : 86435120700

Ans. Official Answer NTA (6)

Sol. z
1
 = x

1
 + iy

1

z
2
 = x

1
 + iy

2

z
1
 – z

2 
= (x

1
–x

2
) + i (y

1
–y

2
)

arg(z
1
 – z

2
) = 

4



1 1 2

1 2

y y
tan

x x 4

  
  

y
1
 – y

2
 = x

1
 – x

2 
_______(1)

Now |z
1
 – z

2 
| = Re(z

1
)

(x
1
 – 3)2 +  2 2

1 1y x _______(2)

(x
2
 – 3)2 +  2 2

1 2y x  _______(3)

(2) – (3)
2 2 2 2 2 2

1 2 1 2 1 2(x 3) (x 3) y y (x x )      
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1 2 1 2 1 26x 6x (y y )(y y ) 0     

1 1 1 2 1 26(x x ) (y y )(y y ) 0     

but  1 2 1 2x x y y        by     (1) them

1 2 1 2 1 26(y y ) (y y )(y y ) 0     

1 2y y      then        1 2y y 6 

5. The probability distribution of random variable X is given by:

x

P(x) K K K K K

1 2 3 4 5

2 2 3

Let p = p(1 < X < 4|X < 3). If 5p = k, then  is equal to _______.

,d ;kn`fPNd pj X dk izkf;drk caVu

x

P(x) K K K K K

1 2 3 4 5

2 2 3

gSA ekuk p = p(1 < X < 4|X < 3) gSA ;fn 5p = k gS] rks  cjkcj gS_______A

Question ID : 86435120707

Ans. Official Answer NTA (30)

Sol. Here 
2K

P
K 2K




P = 
2

3

also P(x
i
) = 1

K + 2K + 2K + 3K + K = 1

K = 
1

9

5P =  k

2 1
5

3 9
  

30 

6. Let S ={1, 2, 3, 4, 5, 6, 9}. Then the number of elements in the set T {A S: A     and sum of all the

elements of A is is not a multiple of 3 } is_______.
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ekuk S ={1, 2, 3, 4, 5, 6, 9} gSA rks leqPp; T {A S: A     rFkk A  ds lHkh vo;oksa dk ;ksxQy 3 dk xq.kt ugha

gS} esa vo;oksa dh la[;k gS_______A

Question ID : 86435120701

Ans. Official Answer NTA (80)

Sol. S = {1,2,3,4,5,6,9}

Numbers of  3n  type 3,6,9

Numbers of  3n–1  type 2,5

Numbers of  3n–2  type 1,4

Number of subset of S containing one element

which are not divisible by 3 = 2C
1
 + 2C

1
 = 4

Containing two elements = 3C
1
 × 2C

1
 + 3C

1
 × 2C

1
+ 2C

2
 × 2C

2
 = 14

Containing three elements =  3C
2
 × 4C

1
 + 2(2C

2
×2C

1
) + 3C

1
(2C

2 
+ 2C

2
) = 22

Containing four elemnts = 3C
3
 × 4C

1
 + 3C

2
(2C

2
×2C

1
) + (3C

1
2C

1
× 2C

2
)2 = 22

Containing five elemnts = 3C
3
 (2C

2
+ 2C

2
) + (3C

2 
2C

1
× 2C

2
)2 = 2 + 12 = 14

Containis six element = 4
Total = 4 + 14 + 22 + 22 + 14 + 4 = 80

7. Let S be the mirror image of the point Q(1, 3, 4) with respect to the plane 2x–y+z+3=0 and let

R (3, 5, ) be a point of this plane. Then the square of the length of the line segment SR is ______.

ekuk lery 2x–y+z+3=0 ds lkis{k fcUnq Q(1, 3, 4) dk niZ.k izfrfcEc S gS rFkk ekuk bl lery ij ,d fcUnq

R (3, 5, ) gS rks js[kk[k.M SR dh yEckbZ dk oxZ gS______A

Question ID : 86435120706

Ans. Official Answer NTA (72)

Sol. R (3, 5, r) on the plane

2x – y + z + 3 = 0
then 6 – 5 + r + 3 = 0
r = –4
R(3, 5, –4)
Equation of line QS

r (1,3, 4) (2, 1,1)  


P(1 2 ,3 , 4 )    

P is one plane

Q(1,3,4)

S(a,b,c)

P

2(1 2 ) 3 4 3 0        
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2 4 3 4 3 0        

6 6 0  

1  

( 1, 4,3)

P is mid-point of QS then   
a 1

1
2


  a = –3

b 3
4

2


 b = 5

c 4
3

2


 c = 2

S(–3, 5, 2)

2 2RS ( 36 36) 72  

8. Let A (sec, 2tan) and B(sec , 2 tan )  , where   / 2     be two points on the hyperbola  2x2 –y2=2. If

(, )is the point of the intersection of the normals to the hyperbola at A and B, then (2)2 is equal to

_______.

ekuk vfrijoy; 2x2 –y2=2 ij nks fcUnq A (sec, 2tan) rFkk B(sec , 2 tan )  , gSa ftuds fy, / 2    gSA ;fn

A rFkk B ij vfrijoy; ds vfHkyEcksa dk izfrPNsnu fcUnq (, ) gS] rks (2)2 cjkcj gS_______A

Question ID : 86435120705

Ans. Official Answer NTA (36)

Sol. hyber bola

2x2–y2 = 2

A(sec. 2+tan

2sec2– 4 tan2 = 2

2(1+tan2) – 4 tan2 = 2

tan = 0

 = 0

Similarly   = 0

but given     = 


2
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which is not possible, hence it must be bones.

9. If
x x

x x

ex x

e e
dx (ux v log ( e e )) C

e e








   


2 3 1

4 7
4 7 14

, where C is as constant of integration, then u + v is equal

to ______.

;fn  
x x

x x

ex x

e e
dx (ux v log ( e e )) C

e e








   


2 3 1

4 7
4 7 14

 gS] tgk¡ C ,d lekdyu vpj gS] rks u + v cjkcj gS_____A

Question ID : 86435120703

Ans. Official Answer NTA (7)

Sol.
x x

x x

e e
I dx

e e









2 3

4 7

2ex+3e–x = A(4ex + 7e–x) + B(4ex –7e–x)
By comparing the cofficients on both hids

A B 
1

2

A B 
3

7

A 
13

28

B 
1

28

   x x x x

x x

e e e e
I

e e

 



  




13 1
4 7 4 7

28 28
4 7

 x xI x ln e e C   
13 1

4 7
28 28

x xI x ln e e C 
    

 

1 13 1
4 7

14 2 2

u 
13

2

v 
1

2

u v 7 

10. Two circles each of radius 5 units touch each other at the point (1, 2). If the equation of their common tangent

is 4x + 3y = 10, and C
1
(,) and C

2
(,),C

1
C

2
 are their centres, then |(+)(+)| is equal to _____.
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5 bdkbZ f=kT;k ds nks o`Ùk ,d&nwljs dks fcUnq (1, 2) ij Li'kZ djrs gSA ;fn mudh mHk;fu"B Li'kZ js[kk dk lehdj.k

4x + 3y = 10 gS rFkk muds dsUnz C
1
(,) vkSj C

2
(,),C

1
C

2
 gSa] rks |(+)(+)| cjkcj  gS_____A

Question ID : 86435120704

Ans. Official Answer NTA (40)

Sol. C1 C2


5 5

3x+4y = 10

Slope



3

4

( , ) 

Slope of  C
1
C


 = tan 

4

3

then sin 
4

5

cos 
3

5

to find C
1 
 & C


 use parameic from of line

x y

cos sin

 
  

 

1 2
5

x y 
  

1 2
5

3 4

5 5

x   1 3 y   2 4

x = 4 y = 6

 2 y  2

( , ) ( , )  
1

4 6

( , ) ( , )    2 2

| ( B)(r S) | | ( ) |      10 4 40


